SPARE PARTS LIST

MODEL NO. JN3200

PAGE 1

ITEM PART NO. DESCRIPTION QTY NOTE
001 911271-3 Trapézfeju csavar M5x50 911271 4
002 157475-5 GEAR HOUSING 1
003  253759-0 Lapos Al4tét 12 IN3200/3S3200/ 1
004 331167-6 Hajtorad JN3200 1
005 212306-6 Tugdrgos csapagy 2020 212306-6 1
006 321408-8 Forgattyus tengely JN3200 1
007 221880-3 Homlokfogaskerék 44 JN3200 1
008 253758-2 Lapos Alatét 10 253758-2 1
009 156833-2 Fogaskerékhaz-fedél IN3200/J 1
010 211033-2 Goly6scsapagy 608LB 211033-2 1
011 241517-6 Ventilator 70 9005B/GA5000 1
012 512758-4 Forgorész 220V JN3200/JS3200 1 220V
INC. 10,11,14,15

013 911681-4 Csavar 2
014 681613-2 Szigetelo alatét 1125/HR1800/S 1
015 211033-2 Golyéscsapagy 608LB 211033-2 1
016 411876-4 Légterelo lap JN3200/9005B 1
017 682516-3 Kébelvédo 9,3-85 1
018 665865-3 Power supply cord 1.0-2-2.5 1
019 181441-0 Kapcsoléhaz (jobbos + balos) J 1

INC. 48
020 226060-6 Fogaskerék, komplett 15-46 JN3
021 253215-0 Lapos Alatét 8 253215-0
022  254001-2 Ek 4 254001-2*
023 961013-5 Zarégyuru E-7 961013-5 DA3000R

024  321418-5 Csapszeg 9 JN3200

025 961013-5 Zarogyuru E-7 961013-5 DA3000R
026 152486-5 Nyomofejtartd, komplett, Gj IN
027  792728-1 PUNCH

028 321406-2 Nyomofej-tartocsavar IN3200

029 152176-0 Matricatest, komplett IN3200
030 922127-5 Imbuszcsavar M4x16 922127-5
031 321415-1 Biztositéanya JN3200

032  792292-2 DIE

033 528703-9 Allérész 220V IJN3200/3S3200

220V

034 911243-8 Trapézfeju csavar M5x25 911243
035 645253-0 Zajszuro kondenzator 645253-0*
036 685700-9 Szivacsgumi lemez 6855700-9
037 651225-5 SWITCH SGEL215C

038 687031-2 Kéabel-fesziiltségmentesito

039 911133-5 Trapézfeju csavar M4x18 911133
040 911243-8 Trapézfeju csavar M5x25 911243
041 181030-1 Szénkefe CB-100 (=CB-101, CB-1
042 643600-9 Szénkefetart6-sapka 6-10 64360
044  854507-6 NAME PLATE JN3200

045 156734-4 Motorhaz 9005B/IJN3200/JS32

046 687010-0 Pant 687010-0

048 181441-0 Kapcsoléhaz (jobbos + balos) J
INC. 19

400 341796-7 WASHER

PP R RPNRANRPRRPRORPRPRPRNRRPRRERRRRRRERER

401  783201-2 HEX. WRENCH 3

402  781019-5 WRENCH 50

900 181797-1 STEEL CARRYING CASE
902 819001-5 MAKITA cimke

R R R RN




SERVICE DRAWING

PAGE 1

MODEL NO. JN3200




